
MEEG 2003 
Quiz #6.m19 
 

A beam AB carries 
a distributed load as 
shown. Determine 
the reaction forces 
A and B at supports 
A and B. 
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1 /2(3/ 2)dW y dx x dx= =      
2 1 /2

0
(3/ 2) 4W x dx= =∫        W = 4 kN      2 

 
1
2 (3)(3) 4.5P = =           P = 4.5 kN         1 

 
2 3/2

0
(3/ 2) 4.8xW xdW x dx= = =∫ ∫            1.2 mx =          1 

 

0 :     5 3 0yAM B xW P+ Σ = − − =            3.66 kNyB =          1 
 

0 :    0y y yF A W P B↑ Σ+ = − − + =            4.84 kNyA =          1 
 

0 :    0xxF A+ Σ = =→            4.84 kN ↑=A          1 
 

3.66 kN ↑=B          1 


